N = 0 &8 AF S & Al A
2000 &= =20l & LEgH|
AN 23231
& NAHERSHEOI T AIAE
chel: MoIEstRel SAMN FY CRE-E)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
SEBS 912,992 557,589 355,403
= 220,681
& 9,000
Al 683,311
AARGEOI TAIHAA 856, 192 509, 189 347,003
= 220,681
& 9,000
Al 626,511
AHARSEO StHAMA &I 447,714 398,482 49,232
= 27,100
= 9,000
Al 411,614
OFMH S 2 10| o Ol & AL 35,100 22,860 12,240
= 17,100
== 9,000
Al 9,000
402 QIZ2EX =0l 35,100 0 35,100
= 17,100
== 9,000
Al 9,000
01 QI2tX=2E X 35,100 0 35,100
O0tM==2 ToHuEAIE XX
35,100,000& 35,100
= 17,100
< 9,000
Al 9,000
EtAZOIEN CMEE K& 20,000 0 20,000
= 10,000
Al 10,000
301 dE8BAZ 20,000 0 20,000
= 10,000
Al 10,000
12 JIEIEAZ 20,000 0 20,000
OBFAZQIER QIHIEIE X2 (2,0004 CH)
20,000,000& 20,000
= 10,000




SA

Hal: GOESHE TAAA
o9l NOIASHNOl BAMT FH (£ &%)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
Al 10,000
SADH Bs 100,666 103,054 A2,388
201 Ygreg| 19,000 16,000 3,000
01 A=zt 19,000 16,000 3,000
oYL 14,000, 0002 14,000
CEES 5,000, 0002 5,000
202 OiHl 22,566 20,654 1,912
01 =Lhoib 22,566 20,654 1,912
CRETEXE] 22,566,0002 22,566
203 ARE=XY| 3,000 3,000 0
03 NHZMAL=XY| 3,000 3,000 0
OZZHFA B2l Y2EH 1,000,0002 1,000
ONABBAXUE #A ALEX
2,000,00024 2,000
01 YstPAS 6,100 5,400 700
10 SEAAEIBAS 5,600 4,900 700
OXQIsE DREMT AbISA
1,200,0002 1,200
OEXADI XSS HRMS BAX MYl
24 1,600,0002 1,600
OBIE A QINB ST FAX AUl
1,200,000%! 1,200
OZCHSl XNHBEHA BAX AYISA
1,600,0002 1,600
12 JlEHR AR 500 500 0
OB HHAHA AN 500,000 500
307 I2tolH 50,000 58,000 8,000
02 ABNEX 1,000 1,000 0
OXES ORI0ISAN BE 29 X
1,000,000 1,000
03 ABISHEZEZ 20,000 28,000 8,000
OZEAE2IAFHE S XY 20,000, 0002 20,000
04 DUABAEE 29,000 29,000 0
OANZI NABSAANS X
10,000,000 10,000
OSHE MRS BANNI| #A X2
1,000,002 * 147 S 21 S 14,000
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g et Hel ZAlA4
tAZigtE el Sty &OH (298

_ _ HE T
M- F= - S2(3H) - MRAY - BES Abod e HlnE2
OXTo < A K& 5,000,000 5,000
NEZ2 95 BE 4,000 2,750 1,250
206 MZHl 2,000 1,000 1,000
01 Mzl 2,000 1,000 1,000
OOMZELE5 a7 2,000,000 2,000
01 Yereaz 2,000 1,750 250
12 JIEREAZ 2,000 1,750 250
OOHMZES LYADX B4 250,000 250
OOIMZ4EE DHES 242
1,000,000 1,000
OOIMZES UBAAT BS B4
250,000 250
OOIMSAIS MAIK B 243 500,000 500
SE-BlIIL L =1=g/k] 41,948 41,024 924
101 o121l 14,948 15,104 A156
10 JAM2ENS2 4 14,948 15,104 A 156
OHANLRLZ 2DUY ALSTA 14,948
ooy 32,0002 +10% +402 12,800
oFEXt 32,0002 +10% +52! 1,600
oMATHHZE 2 14,400,000% *3.8% 548
201 Y2yl 27,000 25,920 1,080
01 ARzl 7,000 7,000 0
CEEES=Y] 7,000,000 7,000
02 BB 20,000 8,920 1,080
OZZRILHA 20,000,000% 20,000
TEsFA B 217,000 199,000 18,000
201 ereoty| 44,000 30,900 13,100
01 ARzl 21,000 12,700 8,300
CETTER=Y] 20,000,000% 20,000
o2g+y 1,000,0002! 1,000
02 BB 23,000 8,200 4,800
OZ2RILHA 15,000, 0002 15,000
OA&ZHIRX ] 8,000,000 8,000
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_ _ SIEN
M- B8 co(3H) - MRAY - B Ao il b o Hms2
206 THZHI 55,000 42,500 12,500
01 M=ZHl 55,000 42,500 12,500
OO0 HX
10,000,000& *57H 2~ 50,000
OZ2t0IstEA =4 5,000,000& 5,000
307 2IZ2t0lA 48,000 43,200 4,800
05 CIZtREZ 48,000 43,200 4,800
CEESTEIN 22161 (607 2)
48,000, 000& 48,000
401 AlEHIL 20| 70,000 80,000 A10,000
01 A&l 70,000 79,280 29,280
CHIVER RS 10,000, 0002 10,000
Ok= 253 60,000, 000& 60,000
BEE ogas 29,000 29,794 AT
101 QI t| 960 594 366
10 JIZHNZ2Z2NSEx 960 594 366
oxteLMS
32,0003 3 +10 960
201 LetEdgEd 26,840 14,600 12,240
01 AtR2teltl 13,000 11,000 2,000
oget=EHl 5,000, 000& 5,000
oYdxtz 8,000,000& 8,000
02 23244l 13,840 3,600 10,240
0=z=223% 9,840,000& 9,840
O Xt & EHh| 4,000,000& 4,000
301 YEtEa= 1,200 600 600
12 JlErEAE 1,200 600 600
oz 1,200,000& 1,200
L 22 363,208 50,707 312,501
= 180,000
Al 183,208
QUEHS=HMelAlE 22 106,208 50,707 55,501
101 Q12| 1,408 1,307 101
10 JIZtHZ2 2 X 1,408 1,307 101




SN B#H2ED
Zu: TABN TAA
CHol: 242h e (Er9): & 2)
_ _ _ Muo
SN - EH . S(3) - MRAY - BES O &t 04 Sl ko HRz2
O+HIAE LHEA 32,0008 2% <222 1,408
201 Y| 34,000 31,400 2,600
01 AR 2&cldl 25,000 23,000 2,000
O tt==ZH| 20,000,000& 20,000
ogxtz 5,000,000& 5,000
02 22944 9,000 8,400 600
O3Z222SaZHA 3,600,000 3,600
OA & EHIS XL 5,400,000& 5,400
206 TH=Hl 4,000 4,000 0
o1 Mzl 4,000 4,000 0
OQHAHRINE L BALYT W27
d 2,000, 0002 2,000
og= QHLHANL 28 M27Y
2,000,000& 2,000
307 gI2tolA 14,400 14,000 400
05 BIZtREZS 14,400 14,000 400
0= 2 - HAHAAL St2 Ay
14,400,000 14,400
401 AIEHIZ =0 50,000 0 50,000
01 Al&HI 50,000 0 50,000
OMBMYESTHASLHRIAL IS H =
HF % WESID HIBIIE HYSY
50,000,000& 50,000
402 DIZEXHE0IH 2,400 0 2,400
02 BIZ2HCH&H AL HI 2,400 0 2,400
O&stx AZZOYH RS>
2,400,000& 2,400
SHH=XMelAlZ A 257,000 0 257,000
2 180,000
Al 77,000
401 AIEHIZ RO 257,000 0 257,000
= 180,000
Al 77,000
01 Al&HI 255,149 0 255,149
OMEBAYETITHHSHRIANL B2BA
255,149,000& 255,149




2A: BZEESH
M NHESHEQ CAHE
ool RaSh 22 (el @)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
= 178,704
Al 76,445
03 AlZ=01d] 1,851 0 1,851
OAMEMASTSHEH=X AL 22 S A
257,000, 000& *0.72% 1,851
= 1,296
Al 555
ArRABSAHF0XA 45,270 60,000 A 14,730
= 13,581
Al 31,689
MrRABSAAFCXA 45,270 60,000 214,730
= 13,581
Al 31,689
401 A& HIZ 20| 45,270 60,000 214,730
= 13,581
Al 31,689
01 A&l 44,781 59,460 214,679
OBAMLALEIN =2 & . LX
44.,781,000& 44,781
= 13,434
Al 31,347
03 AlZ=0Hd] 489 540 A5
OBAN+ALS RN =2 & . IE
45,270,0002 *1.08% 489
= 147
Al 342
HY2LZH(BEESDH) 56,800 48,400 8,400
QA2 A 4,200 3,000 1,200
ol 2| 4,200 3,000 1,200
203 YRFLH| 4,200 3,000 1,200
04 BENM2IIRFLEL 4,200 3,000 1,200
OFNEY HRFLH| 350,000& ~12& 4,200
Jl2&Hl 52,600 45,400 7,200
Jl=2&H| 52,600 45,400 7,200
201 BH2EH] 7,000 7,000 0
01 AtE2teldl 7,000 7,000 0




AN SEES
BN WSS (BILSI)
&l Jl=Z 4l =g RSl
_ _ _ Muo
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
oY=l 5,000,000& 5,000
O =gl 2,000,000& 2,000
202 Od4Hl 45,600 38,400 7,200
01 SLUAHbI 45,600 38,400 7,200
OZUH=ZE0YI 45,600,000 45,600




